HIGH GROWTH CALCULATIONS IN BOTTOM 25% SUBGROUP
ELEM & MIDDLE SCHOOLS

Step 1:  Identify Student Peer Groups based on previous year’s ISTEP scores and determine the 66th percentile and above in each. Student Peer Groups are determined based on the student’s grade level and their previous years ISTEP performance.
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Step 2: Determine what percentage of the Bottom 25% subgroup qualifies as high growth in their particular peer group. You take the total number of high growth students combined, from all peer subgroups.
Ex)	   Peer Group		Number of High Growth Students (Math)	% OF HIGH GROWTH (HG)
   120 – 150				23				Total in Bottom 25% = 542
   151 – 170				34				    Total HG = 76 students
 	     171 – 190				19					HG = 14%
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)Step 3: Rank all Title I schools based on the % of students in the bottom 25% subgroup showing high growth. There 
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So this school IS NOT a High Growth School for math this year. They would have to have at least 22% of their bottom 25% subgroup identified as high growth.
